| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

o
&)

o
w

o
N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.2

0.1

OJ-'\-Q IIII;IIII;IIII;IIII;III :IIII;IIII;IIII;IIII;IIII

Rati

0 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base_noSel

| Efficiency vs Dz |

—— DQM_mkFit_TT retrainOldFiles_v2_noSel

V4
=
N

=
!
¢

efficiency vs d

o
©
[

.....................................................................

.......................

IR

o
(2]
T | T
_._
_.__._
—-—
.
=
-
T
3
=

J_lLQllllillllillllillllillllillll

.S L : : ,
T : : :
RS (T

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


